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TREE SURVEY INFORMATION

T1 = Euclyptus | RPA = 8.7 metres
T2 = Magnolia |  RPA = 1.4 metres
T3 = Persian Ironwood | RPA = 2.5 metres
T4 = Common Lime | RPA = 5.4 metres
T5 = Katsura Tree | RPA = 2.1 metres
T6 = Horse Chestnut - not accesible / truncated old tree 
T7 = Leyland Cypress | RPA = 3.9 metres
T8 = Fastigiate Hornbeam | RPA = 2.7 metres
T9 = Fastigiate Hornbeam | RPA = 2.8 metres
T10 = Holly | RPA = 1.5 metres
T11 = Eucalyptus | RPA = 2.1 metres

*
Read in conjunction with Tree Report WAS13-2015

RPA = root protection area radius measured from centre of stem
             and shown as red dashed circle around the tree
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<-Slight possibility of skirting RPA of T7

Ground protection for T4 required 
in this area

T4

Ground protection for T4 required 
in this area


